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function trusssimulator(jointpos, links, supports, ...
suppplanes, forces)

]

% define truss

() jointpos = [0 1 0.75 1.5;0 0 1 1.25];
@ links = [1 3;1 2;2 3;3 4;2 47;

(@) supports = [1 4];

@) suppplanes = [0 1;0 0];

@ forces = [0 0 0.5 0;0 0 0.5 0];
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Zeichnen des Fachwerks in MATLAB

% Draw truss .
figure (' name’,’ Truss’); 4 ZC/IChnCH da’
$ Mark joints by magenta star 66(,@nk6
plot (jointpos (1, :), jointpos(2,:),'m*’); hold on;
ax = axis; axis off; axis equal;
dx = ax(2)—-ax(l); dy = ax(4) - ax(3);
% Annotate joints
for 1=1:k
text (jointpos(1,1), jointpos (2,1)+0.05+dy, num2str (1)
end

% Visualize 1links .

for 1=1:s 4 ZOG[’W@?
% Draw blue line for a link Cﬂgr \§ﬁ%bé§
plot (jointpos(1,1links (1, :)), jointpos(2,1links(1l,:)),'b-");
% Annotate links with their numbers
mp = 0.5%x(jointpos(:,links(1l,1))+jointpos(:,links(1l,2)));
text (mp(l),mp(2), num2str (1), " color’,’k’,’ fontsize’,14);

end
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